P-1 (1+1+1) G /20 (N)
2020
ZOOLOGY (General)
Paper Code : ZGT II-A & B
[New Syllabus]

Important Instructions
for Multiple Choice Question (MCQ)

® Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.

Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).
Subject Code : |IIl|A |& |B

Subject Name :

¢ Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one
of these alternatives is “CORRECT” answer. The candidate has to write
the Correct Alternative [ie. (A)/(B)/(C)/(D)] against each Question No.
in the Answer Script.

Example — If alternative A of 1 is correct, then write :
1. — A

® There is no negative marking for wrong answer.
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Paper Code : ZGT II - A

Full Marks : 10 Time : Thirty Minutes

Choose the correct answer.

Each question carries 1 mark.

1. Which one is the producer in ecosystem ?
(A) Tiger
(B) Insects
(C) Plants

(D) Sun

S| AR & (I AEOCE GRAE 2
(A) 19
(B) ro%
(C) ©fgn
D) 1

2. Which ecological pyramid cannot be inverted ?
(A) Pyramid of number
(B) Pyramid of energy
(C) Pyramid of biomass
(D) None of the above

2| @I Paifief esbita weT 97 ¢
(A) R PRI
(B) ifew forifire
(C) AR F==ifRe
(D) Ttz (HICAIDE =
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3. Sundarban is a —
(A) National park
(B) Biosphere reserve
(C) Sanctuary
(D) Children’s park

© | WA TE b —
(A) STSIT Syl
(B) IR el
(C) IR
(D) s Swpiw
4. How many queens are present in a bee hive ?
(A) 1
(B) 2
©)3
(D) 4

8| @5 NI 3% AN Gwifg I8 2
A) >

(B)
(C) o

(D) s
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5. How many biodiversity hotspots are present in India ?
(A) 3
(B) 2
© 4
D) 1

¢ | ORe W GRCAB@T 2670 It ?
(A) ©
(B) 2
©) 8
D) >
6. Which one is a greenhouse gas ?
A) O,
(B) CO,
(C) SO,
(D) H,0
Y| G S I ATRISH o 2
(A) O,
(B) CO,
(C) SO,
(D) H,0
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7. Which one is related with edaphic factor ?
(A) Air
(B) Water
(C) Sky
(D) Soil
Q| A T (I GOIRRS ST A HFS 2
()
(B) &=
(C) =i
(D)
8. Which one is a toxicant ?
(A) Pesticide
(B) Cow dunk
(C) Dust
(D) Sunray

v | Ma @G Rl
(A) FoarE
(B) (oM<=
(C) fereen
(D) o =
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9. Who is the highest consumer ?

(A) Grass hopper

(B) Frog

(C) Eagle

(D) Snake

5| I A A ?

(A) T

(B) T8

(C) siet

(D) oA

10. Which one is a result of water pollution ?
(A) Sneezing
(B) HIV
(C) Tumor
(D) Cholera

o | TIHA (FIND ST AR PR TCH 2
(A) 2ifo
(B) HIV
(C) o=
(D) eer
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P-1 (1+1+1) G /20 (N)
2020
ZOOLOGY (General)
Paper Code : ZGT II - B
[New Syllabus]

Full Marks : 40 Time : One Hour Thirty Minutes
The figures in the margin indicate full marks.

Write your answer within one page for the questions carrying 4 marks each
and within three pages for the questions carrying 12 marks each.

Unit - 1
(Ecology, Environmental Biology, Wildlife and Animal Behaviour)

1. Answer any two questions : 4x2=8
(a) Discuss about ecological pyramids.
(b) Write a short note on EIA.
(c) Write note on National park.

(d) Describe social organization in Honey bee.

2. Answer any one question : 12x1=12
(a) Discuss energy flow in ecosystem. What is food web? 10+2
(b) Discuss the causes, results and solutions of air pollution. 5+3+4
(c) Describe ex situ and in situ conservation method. 6+6
Unit - 2

(Taxonomy & Systematics and Evolution)

3. Answer any two questions : 4x2=8

(a) Write a note on Linnaean hierarchy.
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(b) Write down the names of Zoogeographical realms.
(c) Write short note on Neo-Darwinism.

(d) Discuss about biological species concept.

4. Answer any one question : 12x1=12

(a) Write down the principles of binomial nomenclature. Discuss Lamarkism.
8+4

(b) Discuss different types of mimicry and their significance.

(c) Write an essay on aquatic adaptation.

BB

TG - >
(Ecology, Environmental Biology, Wildlife and Animal Behaviour)
S| G 7o Ao Ted mie ¢ 8 x3=b
() Trlerfepier PRIRG i Sieb |
(}) EIA [ e Bl (@74 |
(o) ST Syl I Il (o7 |
(F) CTifes AMEF o107 FIF SNCAB 39 |
2 @ DN @b 2T Ted 7S SIXS =53
SY0+3

(F) & T2 TE NS F91| A ST 12
() MY FACER P, o G ARSHI FH=7CF S 4 | @+o+8

() a3 BB ¢ T B AT simls qe 791 Yt
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T - 2
(Taxonomy & Systematics and Evolution)
o @ @I 9o et Ted (719 8 x3=b
() Terferm fexmenf 7cF Bl =14 |
(%) giETeifcee Sesfem aw @ |
(o) fHe-THesfeE Tt bl (714 |
(%) & 2eifs TS STl 9 |

81 (@ (Rl @35 23T Ted Wi : SIXS=53

(F) Ta-o TFACIT TS SATADGA I | FNHREH TS SNCEAB F7 |
b+8

(%) Rfeq oI SgPle IR OIMT @G TIF TG F9 |
(o) EeTe SfSTAEH F(F G0 2T T 9|
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